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Question

Which is an electrical machine?

faegd meim dH A g2
A | Amplifier Rotatory converter
TR PUEICEERA

C | Transformer

BT

=

Control relay

fd=or Rat

Which type of transformer increases the current level from primary to secondary?

9 THR &1 TRAHTER Fie A9d B URH | Ahel b aaTdl 62

Step down
ESEISIRE

C | Isolation

S ENIGEE]

Step up
¥y 3y

Fixed winding transformer

foreg arfeT TPk

C Bt

.

1.00 10

Correct Candidate
Answer Response

Transformer

BT

=

Step down
XY 3

Raise Objection
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Subjective

Subjective

Subjective

Which type of machine produced the static induced emf?

Rifdes TR STHUG g UbR o1 7= &1 Idre far widr 87

A | DC generator
DC SRR

C | AC generator
AC TR&R

Alternator

feeex

Transformer

TIBIR

X

Which type of machine produced the Rotating magnetic field?

ol dee T &7 g UHR &1 7= &1 IdreT Hdl 82

A | DC shunt motor
S vic Aler

C | Stepper motor

VR AR

Two phase Induction motor

3 B SS9 Hle

DC series motor

SNl e A

Which type of shape is used for carbon brushes in DC machine?

DC A= B F1a 571 H 5 UBR BT ATeh{eT o7 YT {3 wirr 82

A | Triangular
[EEalict

C | Cylindrical
SATBR

Square

bR

Semi-circular

3 MAPR

Transformer

TR

X

Stepper motor

TR HieX

Page - 2



Subjective

Subjective

Subjective

Which statement is correct for DC machine comparative to AC machine?

ot = Y o & St o= & fore o W A wEt 82

It doesn't require any maintenance

2 Pt TERETE B S 78l 8

C | Motor speed control can be done by changing
the frequency.

STGRT BT FGABR HIeR il FH=0T faar ST weht
|

The DC motor’s efficiency is high
SIRA Ay BT qar 3w §

In this motor, brushes, and commutators are
not present.

3 Hiex T 721 3R HReX 78l B &

Which type of losses not found in AC motor?

Tl Hiex B {59 TR & T el U o 82
Iron losses Copper losses
e 1 "erel did P geret

C | Brush losses

ERURCRIE]

Mechanical losses

TifA® JHaH

Which is the disadvantage of DC machine?

SR 7=fiF 1 T | R

Torque is high
UG FAT

C | Free from harmonics

B I gaa

Installation and maintenance is easy
RITIAT 3R TERETG ST §

Operation is Seamless

TR Fafy @

The DC motor’s

efficiency is
high

S AR @
Tera i §

Brush losses

Y TSI

Operation is
Seamless

SR ety @
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10

Subjective

Subjective

Which is the wrong statement for DC Fan?

Sf B & o TTeid pYT HH AT R?

A | DC motor fans use 70% less energy than a
standard AC fan

St iR & UM Toh AFS T U &t gan |
70% HH $Hul BT ST X §

C | DC motor fans have more rouged construction
than an AC motor fan.

S Aiex td H Tl HieR U &1 ga | S
FOR 0 g g

D

DC motor fans are less noisy.

SR Al & UW U IR I 81 o

DC motor fans have more speed options than
an AC motor fan.

S Hiex v 7 vt HieR U ) et St iy
faFed g &

Which statement is correct for AC machine comparative to dc machine?

SR w=i Y gor B vt 7= ¥ e o @ wuE It 2

A | In this motor, carbon brushes and
commutators are present.

Y HieR H Pla 5797 3R SRR ANE 8id 8

C | Motor’s efficiency is high
HIeR 1 Gaf 3 ¢

Motor speed control can be done by changing

the frequency.
MR ! Fea@R Hiex T =0 faar o S 31

It requires maintenance
T R4 B ATIIDH T &

DC motor fans
have more
speed options
than an AC
motor fan.

SRt Aier o |
T Hier U B
o # ot
gf?f fdweg g

|

In this motor,
carbon brushes
and
commutators
are present.

TG Hiex B HIeA
Y 3R FRLR
HE g 8
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11 Subjective

12 Subjective

[[Imagell

The above circuit diagram is represents?

IWRIed Fidhe ARG b1 Ul Har g2

Stator
Ot

3-phase o
Supply

o—

D.C rotor
excitation system
supply

A | Three phase induction motor

I S S AR

C | Synchronous motor

JRBIAD HIeY

B | Shunt DC motor

e SRft AR

D | Three phase squirrel cage motor

oft Tl TR ol Hiex

Which of the following is not a self-start motor?

Fraffad # 3 B9 Ue Jeb TIE Hiex el 82

Three phase induction motor

0 ol S8 AL

C | Synchronous motor

J@SIA® A

Shunt dc motor

e Sf Al

D | Three phase squirrel cage motor

oft ool WRT o Hlex

Synchronous
motor

CAINERITR

Synchronous
motor

G AINE R4
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13

14

15

Subjective

Subjective

Subjective

Which type of motor will work as single excited motor?

5T UPR Pt Hiex Tohrd 3ol HIek b =0 | B HIN?

Synchronous motor

CAINERI

C | DC motor

S AR

Three phase squirrel cage motor

oft Tl TR ol Hiex

Servo motor

RCTREICAS

Which statement is correct for synchronous machine comparative to induction machine?

TSHRM TR B ga # Risi7a 7=fiF & g 19 1 w98t 82

A | Motor is a single excited machine.

AR U Tohd Iaford AR &

C | Motor has self-starting torque.

HieR & Yo I el Bl 3|

The speed is independent of load.

T4 YR ¥ WA gl

Motor operates only at a lagging power factor.

HeX Had AfHT UTaR ThaeX IR HTH Bl ¢

A Damper Winding consists of heavy copper bars inserted in the slots of

GEIRIERFT W ASTA TR IR de Pl o ad &

Armature faces of stator

WR P R B

C | Pole faces of the rotor

RN & Ul ol

Armature faces of the rotor

IR & SR ol

Pole faces of the stator

WIER & U1d ol

Three phase

squirrel  cage
motor

oft ol TR ol
R

The speed is

independent of
load.

iy YR ¥ Wdd

|

Pole faces of
the rotor

RIeR o Tiel ol
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16

17

18

Subjective

Subjective

Subjective

Which type of method is known as resistance Start Motor?

f5g UpR @ Ay B ufaRly wId Hiex & U & S oI1dl 87

Capacitor Start Motor

TR URY Alex

C | Two value capacitor motor

3 geg G diex

Split Phase Motor
fRete ot HieR

Shaded Pole Motor.

Bifed Oid Aex|

How much phase angle is made between main winding and starting winding in capacitor start single phase

induction motor?

FHURYeR wId R ol S8awH Alex & A arfeT 3k wifd aEfEn & «ia feod1 sl Wiet a1 872

A | 60 degree
60 f&3it

C | 120 degree
120 f&h

90 degree
90 fe&uit

180 degree
180 f&%ht

Which is wrong statement for single value capacitor motor?

R1et g FURICR Hex F T B 11 7Terd HUH 82

The paper capacitor is used

TR HURYER BT IuANT fHa1 ST 2

C | Efficiency is high.
T/ 31D 31

No centrifugal switch is required.

PIS HEIUGRS (& BT AMaIDH T T8 8|

The power factor is high.

IR thaex JTeT 2

Split Phase
Motor

e e AR

90 degree

90 f&ift

No centrifugal

switch is

required.

BIg DCTIRSD

Sl Edl

%&naww et
|
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19

20

21

Subjective

Subjective

Subjective

Which type of work cannot be done by nuclear reactor in plant?

T B 1RyTY] RUaex gRT {5 UHR &1 1 g} foran S qehd 87

Maintain the nuclear reaction

Initiated the nuclear reaction

TRUTY] Uffesan §9TT Xt § TRATY] Yffehan Y& Rl §
C | Extracting the fuel from nuclear reaction Controlling the nuclear reaction
TRATY vfaferar @ S fRepradr & TRATY] Yffehar & Aafd exar g
Which can't act as moderator in nuclear power plant?
DI TRATY] Sroll GO H AS¥er & U B B Tt B Tavell 82
A | Heavy water Graphite
EICIG AT3e
C | Friona Paraffin
WIS ORIt

What is the average demand if the maximum demand of generation of power is 50 MW and the load factor of

the plant is 60%?

e faorelt Sare Bt 3Hf¥HdH AT 50 BEIE § 3R T4 b1 dls thacl 60% & df 3 gd Al T 82

A | 20 MW
20 MW
C | 40MW
40MW

30MW
30MW

50MW
50MW

(@)

vs]

Extracting the
fuel from
nuclear

reaction

oYM wfafsear
oA AwTaar g

Friona

30MW
30MW
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22

23

24

Subjective

Subjective

Subjective

what is the use of feed water in preheated by using flue gases to improve overall efficiency?

T e H GUR & fow Bio it &1 IuahT 3 ugd d TRA U T8 e ur &1 a1 SuT 82

Super heater B | Economizer
IR gIex THHHIOR

C | Air pre heater D | Feed water pump
WHER BIS alex Uy

What should be the minimum clearing distance (in feet) between the equipment for 750 to 1000 kV line?

750 ¥ 1000 kV TS & AW SUSHRUN & &1 AqH THIRNY g1 (BIe W) 1 g d1iee?

Al 20 B| 25
20 25
C| 45 D | 50
45 50

According to electricity rule, which type of pole is not used in overhead line?

fagga o & MR siiaves areH o ol TR o Uiet &1 TNT =Tal fosa STl 82

Wooden poles B | Concrete poles
qAhal WY Fpic I @Y

C | Rail electric poles D | Silicon PVC poles
X foetelt & @H IBIREZRRCINIRCRY

Economizer

ECARILSE

50

50

Silicon PVvC

poles

faferpr  diaireit
@y

Page - 9



Which type of poles is recommended for highest span?

I A & o {59 R & TY 31 el 3t ot 22

25 Subjective Steel pole
J A | Wooden pole B | Steel tower T &y
qAhal WY I TR
C | Steel pole D | RCCpole
e & @H HpIc b GY

Which type of property is not required in fuse material?

WS gl 5 GhR & U1 1 ARl 1) gl 82

High resistivity

26 Subjective A | Low melting point B | Low ohmic loss b I feRTuHdl
CRRIGEIET FY At g
C | High conductivity D | High resistivity
3 dldhdl I UfaRiesmar
Which of the following line is considered in capacitor lumped type?
faforaa & § fog arg &1 $ofiex 7w ey & JFE ST 87 Short
L transmission
27 Subjective Short transmission line B | Medium transmission line B line
Y HROT TS HH HROT AR qY HROT AT
C | Long transmission line D | All of these
GEIRSERUEIES] g quft
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28

29

30

Subjective

Subjective

Subjective

Which is correct, when the diversity factor of a plant is increases?

S SREM BT A3 SRS Tl & dl B a1 Fe) Bl 82

Plant Cost increases

Plant Cost decreases

HREM S AT §¢ Sl § PRI B! AT gedl §
C | Higher maximum demand Higher capacity of plants
I HfYHan qi HREM I I &l
Which of the following plant have highest life span?
frafafad # ¥ f5g FREM &1 Siasa S gidT 82
A | Nuclear Coal power
BlRCHI DIl Qi

C | Hydro power

RESIIEN

Diesel generating station

SIS SFRICT TR

Which is not a static compensation that used in transmission line?

TRy drg § uged e arar fRR aifqafd @ 91 et 82

A | Shunt capacitor bank

T HUfeR

C | VAR compensators

3R HHR

Synchronous condensers

EEAINEARBIEE]

Series compensation

PICRIREIES]

Plant Cost
decreases

HREH Pt AT
Hedt g

Hydro power

HESIIEN

Synchronous
condensers

SCAINED
gy
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31

32

33

Subjective

Subjective

Subjective

Which is correct for single phase supply comparison to three phase supply?

o e g Bt ga B RivTa ot TS 3 e o a1 Ig 8

Low cost of Machinery in single phase B | Low Reliability
Ritret et o Hi=R_) B AT ERACEREIRR]
C | Required less amount of conductor material D | Better power factor and efficiency
1A HH HEA H bede’ Fradl IFR TR ey SR g&re
Which is known as the heart of an atomic power plant?
TRATY] 351 G4 & ged & = § ford) ST Il &7
A | Steamer B | Turbine
TR Tated
C | Reactors D | Cooling tower
Ruaex CANHIGIER

The voltages that appears across the breaking contact at the instant of arc extinction is called

90 % Rgw 89 & g TR AT s A REE AR ARe S peraid

Restriking Voltage B
Ufefid dlees

C | Active Recovery Voltage D
Jfspar Repeart dtecst

Recovery Voltage

Repadt aieewt

Arc Voltage

3T e

Low Reliability
o fayg-itgar

Reactors

Rugex

Recovery
Voltage

Page - 12



Which is wrong statement for surge absorber?

Tof TssiTeR & foTT 1 1 HY TTeld 27
A | Device to protect electrical equipment from
over-voltage transients caused by external or
internal events. Increase the steepness of wave front of a surge
34 Subjective TR 1 TAR® g3l & HRUT faggd ITHN TEX & - &) dgR DI (AT J1Y
P fYF dec aTd giforer I FaH & forg
FUDT|
C | Used for protection against low-voltage high- Surge arresFers arg 4Ot generglly d§5|gned to
o protect against a direct lightning strike to a
frequency oscillations. conductor
%ES?@H#%%E%ES D ol ST Bl STHIR W HSdeR Bi Ale faroredt
ST 3 R & 5am & forg 7 sem T ®
Which is a part of the circuit that consists of a conductor that melts easily and breaks the connection when the
current exceeds the predetermined value?
fthe &1 S I1 fewan g1aT & o Ue haer gial 8 ol ST ¥ fed Sl § 3R 5id shve gd Feiid goa & oifves gl
o ST 8 Y H1aRIMA g o1l 82
35 Subjective
A | Isolator Circuit breaker
CIENIN I Ry fadreres
C | Rewireable fuse Air-break switch
1. Tl T TR-se =
Which is an overcurrent relay with directional restraint?
feaTeTe Tum & Ty T aRp e el B 177
36 Subjective Impedance relay Mho relay
gfcremen et AT Sl Rad

C | Reactance relay

ufafeear Ra

Over current relay

3t e R

Increase the
steepness  of
wave front of a
surge

TR & G B
TR B RRar
LY

Rewireable fuse

I T WS

Reactance relay

ufafeear Ra
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37

38

39

Subjective

Subjective

Subjective

An ideal volt meter provides the path for

TH e diee Hiex _ H R II UeH a1

Maximum current B [ Minimum current
HfYH AT BT YAdH BT

C | Minimum voltage D | Maximum voltage
AqH dlecdl SHfIHAH dlecs

How many wattmeter(s) is required to measure 6 - phase, 6 - wire without neutral wire system?

Yed IR Red & {31 6 - B, 6 - AR B AT & oy faram aretfier ot srazgenar g1t 82

Al 3 B| 4
3 4
Cl|5 D| 6
5 6

Loss of charge method is used to measured

A AT BTl AUS BT ITTNT P HIY & foru fopan Sirar &

High resistance B | Medium resistance
I Uiy TeH HfoRiY

C | Low resistance D | Low inductance
S iRy HH U

Minimum
current

GAqH HIC

High resistance

I ufeRY

Page - 14



40 Subjective
41 Subjective
42 Subjective

Which is more suitable to measure the perfect capacitor?

quf e 1 J107) & e a1 & eifireh Sugad 22

A | Owen'’s bridge
3ffa &1 forat

C | De-Sauty’s bridge
S 1 foret

Anderson’s bridge

TS &1 foet

Hay's bridge
¥ &1 foret

Which is wrong statement for digital instruments?

fEfSree SuRul & foT Terd By B A1 8?2

A | Worst resolution
e WRE Yhed

C | Better readability

YR U

Highly accurate
EECRI T

Energy consumption is very less

el Bt WU Igd HH §

What is the minimum resistance required in insulation test voltage is 500 V DC accordance with BS 7671?

T 7671 & AR 500 dt SRR & SYARA URIET dieest § HTa=Ted <JAqH UfoRIY &1 87

A | 0.5MQ
0.5 MQ

C| 2MQ
2 MQ

1 MQ
1 MQ

5MQ
5MQ

De-Sauty's
bridge
S &1 fort

Worst
resolution
Y WIE Yhed

1 MQ
1 MQ

Page - 15



43

a4

45

Subjective

Subjective

Subjective

Which meter is used in electromagnet damping?

godeIRie ST &1 IuTT fbg Hiex # fohar ST 87

A | Flux meter B | Movingiron
AR Her T e

C | Electro-static voltmeter D [ PMMC
3qde)- Rl dreetier PMMC

Which type of measurement is not done by Schering bridge?

AT ot GRT fovdd YR o1 w1T 7T fobarm v &7

A | Capacitance B [ Permittivity

CREIGIEC]

C | Dielectric loss D | High resistance

TR A ERREEEY

Which type of bridge is not suitable for measuring the quality factor of coil?

HI3d P TUIGTT HRE B ATYA & AT 69 UHR 61 4d Iuged el o7

Anderson’s bridge B
T forst

C | Hay's bridge D
RIEE

Maxwell's inductance bridge

Aoad SSaRH o

Owen's bridge
3fd forst

>

O

PMMC
PMMC

High resistance

HERR R

Owen'’s bridge

3Ma ot

Page - 16



46

47

48

Subjective

Subjective

Subjective

Which instrument is representing an integrating type instrument?

D T IUGRV TH DI d UHR & IUHR BT UAFIE FR 8T 82

Ammeter Energy meter
C | Voltmeter Pressure recording instrument
CIGLI CEICAREIIC R EER
If the material has negative temperature coefficient, the resistance with increase in temperature.
e Tt § FHRIES AIH 0T §, o araeE H gfg & 9ry gfekry gl
A | No changes Increases
P gGalTd Ta el g
C | Decreases Very high
FHAGI S 8 §gd Sl

In absence of

indefinite

B! iRl & qae oot sifar fRR-RUfT &1 fRUfY 7 3 g Smewm $iR fador sifAfya g s

the pointer will swing beyond its final steady-state position and the deflection will be

A

Deflecting torque

fEwaifdc i

Controlling torque

21 &) Frifaa &

Damping torque

gt <leh

Speeder torque

e

(@)

Energy meter

Foif Hiex

Decreases

SH B9 g

Controlling
torque

de B Rbd
DA

Page - 17



49

50

51

Subjective

Subjective

Subjective

How many pressure and current coil is present in Megger?

TR ¥ foha IR 3R e Pisd HIVG o7

Two pressure coils and one current coil

Tl URR Pigel 3R TP BC pigdl

C | one pressure coil and one current coil

Two pressure coils and two current coil

3 URR Pisd 3R &l PIC Pigal

One pressure coils and two current coil

Ueh URR I5el 3R &l HRC Higdl

Which type of measurement cannot be done by potentiometer?

IR e gRI g UHR &1 J10 781 fbar o Geva &7

A | Voltage
i
C | Current

fagga urr

Power

RUES]

Resistance

TfeRTe

Which type of meter is used in current that produced by chemical effect?

TAfE U ¥ IO faggd URT H o5 UHR & Hiex &1 SUNT fas Sirar 82

AC ammeter

Tl TR

C | DCammeter

Sl TR

DC ammeter hour meter

SRl gHier der AR

DC energy meter

SR Fuif Hiex

One pressure
coils and two

current coil

TH UM HEA
IR & we
Pigd

Power

DC  ammeter
hour meter

SRl wer der
Hrex

Page - 18



52 Subjective
53 Subjective
54 Subjective

In 3 phase power measurement by two watt meter methods reading can be same in both wattmeters then the
power factoris___.

3 %ol # g are Hiex fafrat gR1 fostelt w0 Gt arewieR # AT 90 g wavd! § ol IR Hhaex gl
A | Leading B | Lagging

e At
C | Unity D | Zero

et Sixl

Which condition is created by two wattmeters Wy and W; for power factor is zero?

&l gredier Wy 3R W, §RT UTaR Thaex YT & forg o It fRufay et v <8t &2

W1 =W, B
Wi =W,
W1=0 D
W1=0

2Wq =W,
2Wq = W3

Wq =-Ve W, = +Ve
Wi =-Ve Wy = +Ve

Which linear circuit can be used as an equivalent circuit for a single voltage source and a series resistance ?

TP Uhd dlecol Uid 3R Ueb S UfeRiY 3 78 S 11 e dfche Thehel idhe & U o IugnT fosar o g 82

A

Nortan's equivalent B
T F THDE

Maximum power equivalent circuit D
e aH e THPE Fibe

Thevenin equivalent circuit

QI JHP e Tfhe

Reciprocal power circuit

UREINS e wiche

Unity

2W1 =W,
2W1 =W,

Thevenin
equivalent
circuit

Yol T
gfe
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55

56

Subjective

Subjective

What is the value of equivalent resistance if the resistor 10 Q is parallel to 20 Q?

T TR 7 01 1 g afe; Uikl 10Q 20Q & THMIR 82

c 6.67Q
30Q B| 12.68Q 6.67Q
30Q 12.68 Q

C| 6.67Q D| 3.28Q
6.67Q 3.28Q
What is value of current in given circuit?
few e wfdhe & wie &1 A @ g 82
50A
i B 50A
A | 25A B | 50A
25A 50A
C | 70A D | 80A
70A 80A

Page - 20



57

58

59

Subjective

Subjective

Subjective

A practical current source is equivalent to an ideal current source in parallel with .......

U agIRe fagyd 4R Hid

F JUMIR U e faggd 4RI d & SRI6R |

Shunt low resistance

e o ufaRiy

High conductance
3 dlefehdl

B | Low resistance

HH UfaRIY

D | Low conductance
D H Tl dl

What is the value of charge flow in a conductor if the current is 5A flowing in 3 minute?

Tfe 3 e § 5A yRT UaRd 81 38! 81 a fooslt T1etes H 31axT uarg &1 | o B

A

900 C
900C

1200 C
1200C

B | 700 C
700 C
D| 150C
150C

When three identical bulbs of 60watt, 200volt rating are connected in series to a 200volt supply, the power
drawn by them will be :

S 60 dTe, 200 dlee I F i THH Fed 200 diec B TYfT J gae H I3 g §, a1 3% gR1 Jl< o areht wfga
g:

A | 180 watt B [ 10 watt
180 watt 10 watt
C | 20 watt D | 60 watt
20 watt 60 watt

>

Low
conductance
HH dTdDhd

900 C
900C

20 watt
20 watt
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60

61

62

Transistors are the examples of

TiforReR F IR B

Irreversible circuit

SR "idhe

Bilateral circuit

fgugita giche

Unilateral circuit

THR®BI Fibe

Reversible circuit

yfad afdbe

Which is wrong statement for active element?

Ifehg Ied B foT Teid Y P A1 7

The elements that supply energy

Foll B 3TYfd B aTal I

Used for energy storage and discharge

St HeR SR Fde & fore vgaa

Ability to control the flow of charge

7ol P UdTe DI AT B BT &

Used for current control and voltage control
applications

TAAT 0T 3R dlect FE=oT 3w 3 forg
I*R2CH]

Which is not defining the unit of electric current?

B [I3gd YRT B1 3BTS B yRHIRT 78 2 81 87

Subjective

C
Subjective

C
Subjective

coulomb /sec

FAN / Yhs

Volt/Q
dee/Q

Farad-coulomb/ sec

RS- e/ AHS

ampere

s

Irreversible
circuit

Used for
current control
and voltage
control
applications
gdam  fdEe
MR Gl
= v
& fore wgad

Farad-coulomb/
sec
TRIS-FHaw/
BES]
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63

64

65

Subjective

Subjective

Subjective

Which part of the circuit breaker is made up by copper tungsten alloy?

Jfhe B BT B TT YN BIOR TRe 9 e1g J 771 BiefT 22

A | Arcing contact B
R HicH

C | Outer body D
IR S8t

Main contact

A Pich

Arc quenching rod

3T BT

Which is the correctly defining the fusing factor?

TR HReb b1 TRUTRIT B3 aTell 1 T7 Tl 82

A | Current rate of fuse/fusing current B | Fusing current/current rate of fuse
C | (Current rate of fuse +1)/fusing current D | (Fusing current +1)/current rate of fuse
(TS +1 bl e R)/HfoT e (ST BC +1)/HGS 1 BRE TR
Which is not considered as a type of overload relay?
fehe SR & TTeld Beod & U | by feamn mar 82
Directional B | Thermal
foeat® g
C | Magnetic D | Solid state
EEEiR] B AR

Arcing contact

KIRUEIRED

Fusing
current/current
B rate of fuse
WS Bl D/
HIC R TS

Directional

feume®
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66

67

68

Subjective

Subjective

Subjective

Which one is shown as the wrong duty of circuit breaker?

Tlbe FFR BT T Haod [ FearT T &7

A | It should carry the full load current

S 1 1T TRA 7 &ifd & AR IR <AlS e
SRR

C | It must be capable of making the circuit when
there is fault current.

Ig Wiee Hc gH W Afdhe §9H & e g
Bl

continuously without overheating or damage B

It should open and close the circuit on no load

T o1 oS & Wfdhe 31 Wier 3IR 8 ST 911eT

It makes and breaks the normal operating
current

g T SATRIET Bc B T 3R drsdl &

Which is indicated the power consumption of the relay circuit element?

o afdhe da 31 faorell Wud &1 ddd fh fear sar g2

IS

C | Magnetic coil

ERCAREEE)

Load B

Burden

CREl

Losses

NIIRE]

Which type of relay represents the phasor difference of two or more similar electrical quantities exceed a

predetermined value?

g TR &1 R Qa1 3 ¥ s1fies Iu faggd Tmmelf & thoR 3R &1 U gd Fufia 7 3 3ifie gwifar g2

A | Over load relay

YR R

C | Over voltage relay

3R dlees Rl

Differential relay

fewfRmaa Ret

Thermal relay

yHa Rel

It should open
and close the
circuit on no

load

3 fom s &

gihe & Grer
AR d B
Bl

Burden

Differential
relay

femifma o
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70

71

Subjective

Subjective

Subjective

For below 400 KV systems, the circuit breaker is designed to withstand above the normal system voltage.

400 FHd ¥ HH » ReA & g, gihe 93 &1 I Red dieew 3 T AT HA & forg fewms= fvar
2
Al 10% 20%
10% 20%
c | 30% 40%
30% 40%

Which supply line has highest current rating?

g smyfef are &t e e Swan 82

From meter line

Hreraad

C | Sub circuit line

Tq gidhe Az

From pole line

UIGRIES K]

Main circuit line

T Afdhe argA

Which type of relay is less affected by power surges?

TR ! ¥ b TR &1 et B yuTfad gl o2
Mho relay Reactance relay
w1 R fruge—g Ra

C | Impedance relay All are same
ELISTIG] T TH oY §

Main circuit line

T fdhe g
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73

74

Subjective

Subjective

Subjective

An electric arc is a visible plasma discharge between two electrodes that is caused by ionizing gasses in

the air.

o faqgd a1 31 Saiagis! & o4 e 220 WA Mde 8 ol g1 H ____ S(RFPRI 141 P HRUI Gl g

A | Electrical voltage

faggd diew

C | Electrical power

fagga wfea

Electrical current

faggd wie

Electrical energy

N

Which type of number system is represented by base 8?

YR 8 ford TR &1 T yuielt &1 ufaffia s g2

Decimal
FRIERE]

C | Octal
SFYSITHR

Binary

TR

hexadecimal

TS MUY

Which type of number system have alphanumeric type character?

P yepR Bt e yumrelt  rehrgARe YR 1 auf gidl &2

A | Decimal
[FENE]

C | Octal
STYSTDPR

Binary
CIEEN

hexadecimal

Ve YRy

Electrical
current

fagga wie

Octal
SFYSITHR

hexadecimal

LIELUEEIBIR]
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75 Subjective
76 Subjective
77 Subjective

How many outputs are represented by 4 input type of NAND gate?

NAND 7€ & 4 37Yc YR ¥ fhar 33eye ueiRfa gl 82

Al 8 16
8 16
c| 32 64
32 64
What is maximum number represented by 4 bit BCD code?
Sifecpem e 7 § W 4 e SR Fie grT eid ot @2
Al 8 9
8 9
c| 15 24
15 24
Which group is represented as universal gate?
e e fory Igg &1 ufaffica vl 82
AND or OR NAND or NOR
AND d7 OR NAND 9T NOR
C | NOT, NOR, NAND AND, OR, NOT
NOT, NOR, NAND AND, OR, NOT

16
16

NAND or NOR
NAND dT NOR
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79

80

Subjective

Subjective

Subjective

Which condition is shown in J-K flip flop as no changes next state from next state?

S T it § o1 o) fRufe 3nTelt Srawt & 3rTelt 3faeut & B8 uRad 781 & ©U & fewrs St 22

J=0,K=1
J=0,K=1

Which is used for storing the one bit digital data?

T foe fefiied 31 & WR 1 & e et SuamT far S g2

A | NAND GATE GATE
NAND GATE GATE

C | Flip flop Register
Flip flop Register

How many input terminal is represented by T flip flop?

T foheTd TATd g1 b 377qe efifa o1 ufafflica & @1 82
4 3
4 3

cl2 1
2 1

Flip flop
Flip flop
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81

82

83

Subjective

Subjective

Subjective

Which is not a component of power electronics system?

I 1 TR SaeaR] RITeH BT U Hed el 82 User electrical
A load
Electric drive Electronic power circuit RER sﬁ&aw
galfdee g18d FAAIP UIaR "idhe IS
C | User electrical load Control circuit
ToR Safdcdhd Al el Ffbe
Which is wrong quality of power electronics converters?
TR Saaei-ad H-acy B Teid Jural BI- I 37
c Minimum cost
A | Maximum efficiency Maximum reliability YATH NI
S TH arel SHfereeH fayaar
C | Less availability Minimum cost
DH IUASI AdH NI
Which mode is described when anode is assigned a positive voltage, the gate is assigned a zero voltage
disconnected and the cathode is assigned a negative voltage?
OFF state
far faem o1 qui fasan STdT 8 919 TS & U RIS dlel 161 SITdT &, T1e &1 U Y diecs fShae 3 ST § forward
3R HUIS B U THRID Jrecs TidT o1l 82 B conduction
mode
A | ON state conducting mode Reverse blocking 3Ih We HBRAS

C | OFF state forward conduction mode

3T W RIS HSIR Al

OFF state forward blocking mode

3Tt < BRAS ATl HIS
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[[Imagell
Identify the above structure diagram of device?
fEaTEd & JTRIE AT RE P! UgATT?
anodel Eate
P
_— TRIAC
84 Subjective - TRIAC
(=]
| ~N
Anode 2
A| BT TRIAC
BJT TRIAC
C | Diac MOSFET
Diac MOSFET
Which represents the Transport Factor of BJT?
BJT % URGE HRF &1 Ui B ol 62 The ratio of the
collector
t and th
_— The ratio of the collector current and the B | The ratio of the collector current and the Base curren an °
85 Subjective emitter current current A emitter current
FHAFCR HC 3R THR FHIC HT SIATd FHAGE BT 3R Y HC BT ST . R
THeR W @
The ratio of the emitter current and the Base The ratio of the collector current and the load
current current
TfteR T SR 9 FHIT HT U FHAGE HC IR TS BT HT ST



86

87

88

Subjective

Subjective

Subjective

Which is suitable for making the Variable frequency drives?

IRuea Wit gga 9 & fow HH a1 Iuged 82

BJT TRIAC
BJT TRIAC

C | IGBT MOSFET
IGBT MOSFET

Which is four terminals device?

IR <fifTa feasg e I g?

A | FET SCR
FET SCR

C | I1GBT MOSFET
IGBT MOSFET

MOSFET has a thin layer of silicon dioxide, which acts as

MOSFET ¥ Riftip 11 S8 3iaaEe &1 U Uddll URd gidl g, Sil & ¥ § B B 2

Resistance

IR

C | Inductor

EXES

Semiconductor

JHipsIR

Capacitor

Fufex

MOSFET
MOSFET

MOSFET
MOSFET

Capacitor

PR
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90

91

Subjective

Subjective

Subjective

In open loop control systems, the control action is independent of the desired .

3o U et ReH #, helal taRM aifdd A @d gl o

Error detector

R fEeaer

C | Outputsignal

Input signal

ERECAARPES

Actuating signal

Tagfer Rga

In closed loop control system, the difference between the input and the feedback signal is represented by

s U held ReH H, 39Yc 3R Bleas Rud & S &1 3R gRT <21 Sl §

A | Error detector

TR &R

C | Accuracy signal

Tyt Rt

Error signal

o Ra

Correcting signal

CRCUNRPK]

Which statement is correct for open loop system?

3o qu Rieen & fow &1 a1 w2 wel 82

A | Difficult to design.

fEaIe B giRwd

C | Feedback path is present.

yfafssar vy AieE §

These are economical.

3 frwrad §

Control action is dependent of the desired
output.

fzror fpan 9ifeyd emeege Wk ®

Output signal

33cye Rud

Error signal

R e

These are
economical.

3} frerd §
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93

Subjective

Subjective

Which statement is correct for closed loop system?

Fars U R & e 19 91 H3= I8t 82
A | These are economical. B | Easy to design.
3 fepwprad ¥ [SESEEaIE-Reay
) D | Control action is independent of the desired
C | Output given Accurate output
STYE FIP Fo T foizror fopa aifesa emeeye @ wda §
[[Imagel]

In above block diagram, what is representing the symbol of G?

IR AT NG H, G & Uciih ) T RO B 38T 22

R(s) + c(s)
G >
+
H
A | Transfer function B | Open loop gain

MR U

Closed loop gain

deqU A

U9 q@ T

D | Feedback response

LdSECARIE]

Output  given
Accurate
33cye  TlD
fear mar

Open loop gain
I qU T

Page - 33



94

95

96

Subjective

Subjective

Subjective

If the value of (1+GH) is less than 1, then sensitivity is/has .

I (1+GH) BT AM 1 A S, d Gdgaierar gl

No effect Decreases
PIs UG el FAG O 8
C | Increases zero
ot g T
A system is said to be , if its output is under control

TS YUTTelt HET I 6, TG SUBT 3M3eye Faau & g1

A | Unstable
IHRR

C | Constant

3ffard

Stable
R

Flexible

SEINI

The mathematical model is not used to represent the control systems model.

T Aied &1 IuanT fa=u yurel! Aied &1 ufdiftia 6 & fore e fosam Sran 21

Transfer function model
SR R Hlsd

C | Differential equation model

fewifRad swavH Aisa

State space model

W WY Alsd

Integration equation model

ZAIRE SHATH Hisd

Increases

Tedl @

Stable
RR

State space
model

W WY Arsd
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97

98

99

Subjective

Subjective

Subjective

How many bits of timer is used in 8051 microcontroller?

8051 ATShIdeIeR H foba fie eIgHR &1 Ui fasan Sirar 82

A | 4 bits B | 8bits
413 g foe

C | 16 bits D | 2bits
16 foe 2f5e

What is the size of RAM uses in 8051 microcontroller?

8051 HTZhIdheIeR o JUTNT BT S aTel X &1 TR0 31 82

A | 64 Bits B | 4kb
64 fe 4

C| 8kb D | 256 kb
8 Hfy 256 id

What is the bit size of each temporary Internal Registers in 8051?

8051 H U ST} 3iidfes IoreR o1 foe ufam = g2

Al 4bit B
4fse

C | 16 bit D
16 foe

8 bit
8 fyc

2 bit
2f3e

8 bits
g fae

64 Bits
64 fae

8 bit
8 fac
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101

102

Subjective

Subjective

Subjective

What is the size of RAM in 8051 microcontroller?

TS 8051 HISHIdbSIaR H RAM &1 GRHETT fad= gYaT 87

128 bytes
128 dlgc

C | 1024 bytes
1024 dlgc

256 bytes
256 digc

2048 bytes
2048 dlgc

Which type of program is used for functions as counters, timers, shift registers, and math operations in PLC?

Hiue # Brder, egR, e IR 3R TiId e & U H B & o {59 UeR & W &1 IUdIT fovar ST 872

A | Cprograming
c )

C | Ladder Logic

HTML
HTML

Logic function programing

SR qlford wiiteieh e YT
A PLC would be used for the automation of industrial
i % TETe & 1T U Ui ol SUANT faaT ST |

Electromagnetic processes Electromechanical processes
C | Electrochemical processes Recurrent process

e S - f

>

256 bytes

256 dgC

Ladder Logic

NS

Electromagnetic
processes

faggadsea
ufpary
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103

104

105

Subjective

Subjective

Subjective

What is the content of accumulator of 8085 microprocessor after the execution of XRI FO H instruction?

XRI FO H A2 & e & aTe 8085 HISHIMRIR & TaTds & Il 1 82

Clear the lower four bits of the accumulator in
8085.
Tag & Fad IR e 1 8085 H A H

C | Clear the upper four bits of the accumulator in
8085
TII®H & SHUL IR 9y BI 8085 H A Y

B

D

Complement the upper four bits of the
accumulator in 8085

TA® & HU IR focd BI 8085 H AR P

Complement the lower four bits of the
accumulator in 8085.

A & fHad IR foed @i 8085 | AR &<

How many byte of instruction XCHG is used to executed in 8085 microcontroller?

8085 ATSHIGHCIR H foba a1ge A XCHG Y Fefed & & forw Iuai fasan smar 82

Which type of BJT configuration is providing the maximum power gain?

g ypR &1 BJT fa=urg siftieaw wfd a4 UeH &3 381 87

Common Base
P I

C | Common Emitter

DI TR

Common Collector

P Hade

Both common emitter and base

DI TR 3R A G

Common
Emitter

G RRYE
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107

108

Subjective

Subjective

Subjective

How many degree phases have been shifted from input to output in common emitter configuration?

B TR HIBTRIA § fhe f&3t et &1 39Ye ¥ e3eye # R frar mar g2

A | 0degree
o f&eht

C | 180 degree
180 f&Tht

90 degree
90 &t

220 degree
220 f&oit

Which type of configuration has high output impedance but low input impedance ?

59 TR & fa=rg ® 3= 3deye ufaarr afe 4 $qe ufaeren gt 82

A Common Base
BT I

C | Common Emitter

DI TR

Common Collector

P BT

Both common emitter and base

HIAT TR 3R S aAT

Which type of mode is used as amplifier?

THABRR & ¥ & f6g UeR @ [3ur o1 Sua fear S g7

A | Cut off
HT 3B

C | Active
ufdeq

Reverse Active

e ufdrea

Saturation

B RE

180 degree
180 f&Tht

Common Base
BT I

Active
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109

110

Subjective

Subjective

Which type of EB biasing and CB biasing is used for the application of ON switching?

ON fRIfIT & Sy & for forg YR & EB TRt 3R CB STafiT %1 IuanT fvar o 82

Reverse, Forward B | Forward, Reverse
frad, BiRas BRas, fad

C | Forward, Forward D | Reverse, Reverse
BRIS, BIRAS o, Rad

Which circuit is called the limiter circuit?

foa ooy &1 e uiuy Fed 82

A | Chopper circuit B | Clipper circuit
TR Fidbe [ESEEESIEad

C | Chopping circuit D | Clamp circuit
Tt Fidbe i Ffbe

vs]

Forward,
Reverse

®Ras, Rad

Clipper circuit

o gfdhe
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11

Subjective

[[Imagell

Identify the above clipper circuit type?

IR fFTR Tfhe UHR B ug== H3?

A | Series negative clipper

IR A7fed fRTR

C | Parallel negative clipper

WA "Afeq faaur

Series positive clipper

RINERI I CAESEN

Parallel positive clipper

WA grenfed faaar

Series positive

clipper
IR diefifead

fFamw
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112

113

114

Subjective

Subjective

Subjective

The given figure represents?

&S ompfa  quriel &2

Wi ¢

Integrator

IR

Differentiator

femifige?

Precision rectifier

IERISERIE e

Summing amplifier

Which type of content is finding by ion-isoconcentration technique?

SA-JHAB-GU db-1h gRT fohg TR &Y Tt T Ul aRITaT off 38T &2

Vapour from air

Water in organic solvent

FEIREIN HIe-e faames & art

C | Organic component from solution PH level of consternation solution
91 § BED geH REIREINCIRECESN

Water activity(AW) can be defined as the obtained from measuring moisture containing sample.

S TTafer (Aw) & T gad T DI A | e ¥ =y o gy forar ST |

A | ORH value pH value
ORH 98, pH d

C | RHvalue Concentration level value

RH deg, DIICH dad dg,

Differentiator

fewiRmer
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115

116

117

Subjective

Subjective

Subjective

Why we use low internal resistance in series of an ammeter?

B Ue TR &t fRael H H 3fidie UfaRlY T SUANT a4t v 82

A | Low selectivity B | High sensitivity
o Ryafefadt RG]

C | Low voltage drop on ammeter D | High voltage drop across ammeter
T} R @ diees ga wfiex ¥ 3 dlecd 81T

What is the average value of sinusoidal wave having maximum voltage value of 520V?

520V & HfHaH diees AF aTd A8 d a¥il o1 S Yo 31 82

A | 330.72v B | 360.45V
330.72V 360.45V

C | 42035V D| 260V
420.35V 260V

What is the maximum current rating of an induction meter?

FSauM HieR B 3fbad e AT R 32
A | 50A B | 100A
50A 100A
C | 150A D | 500A
150A 500A

>

Low voltage
drop on
ammeter
THIY Wl
e gy

330.72V
330.72V

100A
100A
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119

120

Subjective

Subjective

Subjective

Which type of quantity does not measured by multimeter?

5T UPR B T DI Fec e gRT T81 HTUT SI1dT 87

Resistance

IR

C | DCyvoltage
DC dlees

Power
Jrar

AC voltage

AC e

Which type of device is used to measure low voltage form the circuit?

gihe § HH dices AIUA & AT {59 TR & ISR BT ITANT {5071 ST 82

A | Moving iron voltmeter

TfRT STIRA dlecHieR

C | Capacitive voltage transformer

FIRIRT Few CBTR

Cathode ray oscilloscope

FUS X SHRIADIY

Instrument transformer

ggHe SmIHY

Which is the correct value of input resistance of a voltmeter that give accurate reading?

Flep AfET & et dlecHleR & 37YC UORSY 1 Fel A SI Hl 62

Very Low resistance

ERGEZ R GRE]

C | High resistance

I ufeRiy

Medium resistance

HH Uiy

Very high resistance

CRSE G RIGRES

Power

CIER

Moving iron
voltmeter

Tfdm SRA
JrecHeR

High resistance

I ufeRlY
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2

3

Aptitude

Aptitude

Aptitude

Direction: Fill up the blanks with suitable prepositions from the alternative given. During the course of speech

the principal enlarged ____ the need of improving college library.
A | upon B | to
Clin D ’ by

Directions: Given sentence are in active/ passive voice. Out of four alternative, select one which best expresses
the same sentence in passive/ active voice. A fresh batch of eggs was collected by the farmer's wife.

A | The farmer's wife was collecting a fresh batch B | The farmer's wife collected a fresh batch of
of eggs. eggs.

C | The farmer's wife had collected a fresh batch D | The farmer's wife will be collecting a fresh batch
of eggs. of eggs.

Direction: Choose the best one which can be substituted for the given words/ sentence. The depository where
state records and documents are preserved.

A ‘ Museum B ‘ Library

C ‘ Emporium D ‘ Archive
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4

5

6

Aptitude

Aptitude

Aptitude

Direction: From four alternative given, choose the correct meaning of the idioms given in bold in the sentence.
The party stalwarts have advised the president to take it lying down for a while.

B | to take rest

A | to show no reaction

D | to be cautions

to be on the defensive

C

Direction: Some of the sentences are grammatically correct and some are incorrect. Find out which part of the
sentence has an error and mark that part. If there is no error, mark that part as your answer. Copernicus

proved (A) that Earth (B) moves round the Sun (C) no error (D)

A‘A B‘B
e gt

Direction: Compare the bold part of sentence with the expressions given as alternatives, choose the best
expression which is an improvement in sentence. When it was dark they decided to put at an inn.

A ’ put off with B ’ put up at

D | noimprovement

C ’ put outin
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7

8

9

Aptitude

Aptitude

Aptitude

Direction: Choose the word nearest in meaning to bold part. Honest officers find it difficult to attune
themselves to corrupt bureaucracy.

A | tune B | adapt

accusation

C ‘ harmony D

Direction: select the word or the phrase which is closest to the opposite in meaning of the bold word or phrase.

The politician was flummoxed by the questions put to him.

A | comfortable B

annoyed

C ’ delighted D ‘ disconcerted

Direction: Choose the best alternative to make the sentence meaningful. My father keeps all his __ papersin a
lock and key.

A | required B | necessary

C | useful D | confidential

D

confidential
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10

11

12

Aptitude

Aptitude

Aptitude

Direction: In the following questions, the first and last part of senetence is marked as 1and 6. The rest of the
sentence is split into four parts and are named as PQ,R and S. These four parts are not given in their proper
order. Read the jumbled part of the sentence and find out which of four alternative combination is correct. 1.
Religion has been used P: both as a weapon of isolation Q: to dull awareness R: about real problems S: and as
morphia 6: like education, health and employment.

A‘PQRS B‘PSQR

C’QPSR D’RPQS

Direction: Choose the best alternative for bold part to make the meaningful sentence. | adapted a new method
to solve the problem.

A ‘ | have been adopted B ‘ | adopted

C ’ | was adapted D [ noimprovement

| think she ___the clock this week.

A ‘ wounded B ‘ wind

C ‘ wound D ‘ woundler
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Direction: Some of the sentences are grammatically correct and some are incorrect. Find out which part of the
sentence has an error and mark that part. If there is no error, mark that part as your answer. | went to the

temple (A) with my parents (B) my aunts and my cousins (C) No error (D)

13 Aptitude A C
A ’ A B ’ B
C ’ C D ’ D
Each set of the following sentences comprises four alternatives labelled as A,B,C and D. Candidate is required to
select the most suitable alternative which conveys the exact meaning in accordance with the correct
grammatical rules.
If he were to
win the prize |
14 Aptitude D b
would be very
, . . _ happy.
A | If he wins the prize | would be very happy. B | If he were to win the prize I'll be very happy.
C | If he was to win the prize | would be very D | If he were to win the prize | would be very
happy. happy.
Directions: Given sentence are in active/ passive voice. Out of four alternative, select one which best expresses
the same sentence in passive/ active voice. He had committed a mistake.
A mistake has
been
15 Aptitude C .
committed by
him

A ‘ A mistake had committed by him B ‘ A mistake was committed by him

C ‘ A mistake had been committed by him D ‘ A mistake has been committed by him
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16 Aptitude
17 Aptitude
18 Aptitude

Direction: Choose the alternative, which best expresses the meaning of the idiom/phrase. To drive home

A | tofind one's root B | to return to place to rest
C ’ back to original position D | to emphasise
Simplify: 8888+888+88+8
TR PN 8888+888+88+8
A | 9872 B | 9672
9872 9672
C | 8672 D | 9782
8672 9782
The face value of 9 in the number 458926 is
BT 458926 H 9 BT 3ifhd YA §
A | 1000 B| 9
1000 9
C | 9000 D| 926
9000 926

>

9872
9872

1000
1000
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20

21

Aptitude

Aptitude

Aptitude

Find the H.C.F. of 42,63 and 140 is

42,63 3R 140 BT H.C.FI T 8?7

Al3 4
3 4
c|7 2
7 2
Which of the following fraction is the largest?
FofafEd & @ o1 91 ofw e 91 o7
A 7/8 13/16
7/8 13/16
C | 63/80 31/40
63/80 31/40
If x=10 and y=0.1, which of the following is the greatest?
& x=10 3R y=0.1, A g & J HH T3 981 82
Al x2+y? X2\ y2
X2 +y? X2\ y?
C | x2y? X2 y2
X2 y2 X2 -2
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23

24

Aptitude

Aptitude

Aptitude

0.1*%0.01%0.001=?

0.1*0.01*0.001=?

A | 0.0001 B | 0.00001
0.0001 0.00001

C | 0.000001 D [ 0.0000001
0.000001 0.0000001

345 +25*0.80-111 =

345 +25*0.80-111 =

254 B | 324
254 324
C | 666 D | 600
666 600

Kunal bought 65 books for Rs. 1050 from one shop and 50 books for Rs.1020 from another. What is the
average price he paid per book?

PN 7 65 s IUA o WK | b gHH F 1050 3R g8 T 1020 I0A | 50 forard | I8 Ul Qe &1 3igd FiAd
T 31T BI?

A | Rs.18 B | Rs.18.20
Rs.18 Rs.18.20
C | Rs.24 D | Rs.36.40
Rs.24 Rs.36.40

0.000001
0.000001
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26

27

Aptitude

Aptitude

Aptitude

The present ages of three persons are in the proportion 4:7:9. Eight years ago ,the sum of their ages was 56

years. The present age of the eldest person is

0 afaaat &t ada 3 4:7:9 F U B 71 316 a¥f Gd I 341G &1 31T 56 I 47| Y Yo 93 A B adHH 311

z-
A | 28years 36 years
28y 36 a4
C | 45years None of these
45 9§ T AP TE

5 kg of metal A and 20kg of metal B are mixed to form an alloy. The percentage of metal A in the alloy is.

5 fosam o1g A 3R 20 T35 e1g B Y if¥a s U Mrsreng aTS ot 8 1 frsyeng & e1g A &1 ufaRrd &

20%
0.2

40%
0.4

25%
0.25

None of these

EREKEIERE)

Pure ghee costs Rs.100 per kg. After adultering it with vegetable oil costing Rs.50 per kg, a shopkeeper sells the
mixture at the rate of Rs.96 per kg, thereby making a profit of 20%. In what ratio does he mix the two?

S 0 B T 100 T U fbet 81 50 IU Ul el & gl dat & Iy Farde =7 & 916, s ghIFeR [y &l
96 I U forall 1 &R I Iyl 8, ORI 209% 1 A1 BT 81 98 Sl 1 oy srgara & firaman g2

A

3:2
3:2

1:2
1:2

2:3
2:3

3:1
31

36 years
36 a4

20%
0.2
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29

30

Aptitude

Aptitude

Aptitude

if 20% of A=30% of B= 1/6 of C, then A:B:C is

T A BT 20% = B HT130% = C BT 1/6, AAB:CT

2:3:16
2:3:16

10:15:18
10:15:18

3:2:16
3:2:16

15:10:18
15:10:18

Anand and Deepak started a business investing Rs.22500 and Rs.35000 respectively. Out of a total profit of
Rs.13800, Deepak's share is

3fTiE R U A HHR: 22500 T SR 35000 U HT A B Th FGU IR (611 13800 ¥ & Ha MU A I

o o1 fiew g
A | Rs.5400 Rs.7200
Rs.5400 Rs.7200
C | Rs.8400 Rs.9600
Rs.8400 Rs.9600

A can complete a certain work in 4 minutes, B in 5 minutes, C in 6 minutes, D in 10 minutes and E in 12
minutes. The average number of units of work completed by them per minute will be

ATE s Bl 4 e ®, B 5 e &, c 6 BMe &, D 10 e & 3R E 12 e & QT o 9ahd1 81 370 gRIufd

fire @ foru U T o STl @t d T gt

Al 016 0.40
0.16 0.40

C | 0.80 None of these
0.80 STHIA B ol

>

15:10:18
15:10:18

0.80
0.80
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The difference between the length and breadth of a rectangle is 23m. If it's perimeter is 206m, then it's area is

T 3T Bl dTs 3R AeTE & diE 1 iR 23 H 1 3 551 afkdrg 20 M R, 39T A7 @

A | 1520m? B | 2420m?
1520m? 2420m?
C | 2480m? D | 2520m2
2480m? 2520m?

In a simultaneous throw of two dice, what is the probability of getting a total 7?

3 U 1 U 1Y e TR, $l 7 U IR b1 UTAidhll 1 82

1/6 B | 1/4
1/6 174
C| 2/3 D| 3/4
2/3 3/4

If in a certain language , MADRAS is code as NBESBT, how is BOMBAY coded in that language?

Tfe e Rffd wTo & HER B NBESBT & ¥U H hifSd a1 SIdT 8, Y 39 HIST & BOMBAY &1 $9 &ifed farar s

CPNCBX B | CPNCBZ
CPNCBX CPNCBZ
C | CPOCBZ D | CQOCBZ
CPOCBZ CQOCBZ

2520m?
2520m?

1/6
1/6

CPNCBz
CPNCBZ
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In a code language, SOLID is written as WPSLPIMFHA. What does the code-word ATEXXQIBVO refer to?

TP HIS U H, SOLID BT WPSLPIMFHA & 0 ¥ foRaT oiTdT 8 | hls-Rheg ATEXXQIBVO fFa Tsifea 82

WATER
WATER

C | EAGER
EAGER

WAGER
WAGER

WAFER
WAFER

Pointing toward a boy, Veena said,"He is the son of only son of my grandaughter." How is that it related to

Veena?

TH TSH B 3R SRT FHR §Y AT A FT, "8 B Ut & Shald 9 BT 3T g 1" 37T SN0 I -1 Taief 32

A | uncle
3hd

C | Cousin
TERT U

Brother

wré

None of these

T A PIS Tl

Pointing to a man, a woman said,"His mother is the only daughter of my mother." How is the woman related to

the mother?

TS J3Y Bl 3R URT B §U Ueb AR 3 BT, "SHeb! Hi 71 17 ) scbailclt act 8 1" Aigaw 1 Af o1 Gaey 82

A | Mother
qi

C | Sister
CREl

Daughter
CG|

None of these

EREREIEE)

>

WATER
WATER
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If P's father Q is paternal uncle of B and A's husband M is paternal uncle of P, then how is A related to B?

IR PHINUAQ BRI IRTE IRABT UM, PHTIER, dl A, B I f5Y UHR Jafdd g2

A | Mother B | Cousin
i EER]

C | Granmother D | can not determined

AR FRuffea 7&f = g

Deepak said to Nitin, "The boy who plays football is the younger of the two brothers of my father's wife's
daughter." How is the boy playing football related to Deepak?

3o A Ao ¥ Fg1, "Peala W aTa 98 ASHT R fd & Uedt Bt 9t & &1 13l § Slel § 1" Gesid Qo aTel agdh!
o A H Yeifa 22

A | Son B | Brother
a1 TS

C | Nephew D | Brothet-in-law
TSI / YiSTT el

Mother
i

Brother

g
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Which of the given shapes would complete the sequence?

e sl B QY B W Spfa 3FHH Y R A LR TR

Sl

39 Aptitude

¥}

Two statements are given P & Q: You may look into their logic and mark your answer as (a) if both P & Q are
true: (b) if P is correct and Q is wrong or doubtful (¢ ) if P is wrong or doubtful and Q is correct: (d) if both P and
Q are wrong or doubtful. P: All A's are B's. All B's are C's. Therefore all C's are A's. Q:Some A's are B's. All B's are
C's. Therefore some A's are C's.

A PYT P & Q FETTTR: 31 I T b & b & 3R 3 IR P! 39 ¥ § ARFd B Thd & (A) Tt P 3R Q
40 Aptitude | QI 9 8: (B) e P Te1 & 3R Q Terdl A1 Wfaw 8 (C) Afe P Terd a1 Wieww & SR Q Wl 8: (d) Ife p 3R Q Q¥ wrerer A1
gy g1 P @it A B 19 B, cEI suftmm e, ABI Q: FB A BRI Wi B, CEI SN TB A, CEI

Al a B| b
b
C D|d
d
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4,8,28,80,244,?

4,8,28,80,244,?
278 428
278 428
C| 628 728
628 728

Find the statement that must be true according to the given information.: Vincent has a paper route. Each
morning, he delivers 37 newspapers to customers in his neighborhood. It takes Vincent 50 minutes to deliver
all the papers. If Vincent is sick or has other plans, his friend Thomas, who lives on the same street, will

sometimes deliver the papers for him.

T8 B J1d I SN &} TS TSR F SER T g1 11T faie & Uy U HTstt A1 8| YA aig, I8 S
TSI | UTESh! Hl 37 AR U faafkd wxar 3| e o gft 9wR &3 7 50 e &1 gvg avmar 81 afe ffde fiar g an
TIP3 TS €,  ITpT o AT, St It el & T8 8, Hit-o 2t S forg SrTed fadfka s

A | Vincent and Thomas live in the same
neighborhood.

fae 3R 4IH Ue g1 U 3 &

C | Itis dark outside when Vincent begins his
deliveries.

e fa=ie oot fEeliast Y= v § ol S1eR SieRT
e

It takes Thomas more than 50 minutes to
deliver the papers.

HITSIA o B UHE B 50 e ¥ 31t &1 90g
UG

Thomas would like to have his own paper route.
YT 30T GG BT IR = G- dlg |

728
728

Vincent and
Thomas live in
the same
neighborhood.
foie ok ufmy
@ g ug A
wAEI
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Find the statement that must be true according to the given information.: Erin is twelve years old. For three
years, she has been asking her parents for a dog. Her parents have told her that they believe a dog would not
be happy in an apartment, but they have given her permission to have a bird. Erin has not yet decided what

kind of bird she would like to have.

I8 HYF T1d BIOTT S 1 718 THGRT & SHR T T AieT: TRA I8 a8 &1 7| <fi7 I1at ¥ 98 310 rar-far & g
AT G B | 3P TT1-FArT = I Far § o 361 A1 b U Suréie B ueh ol G 761 g, Afd 351 39 Th
geft Y @t orgufa ff 81 TR F st o e a1 v @ 5 e v oRe 1 vt <@ e

A | Erin's parents like birds better than they like

dogs.
TR & H1dT-fOdT Uférl 1 il 9 el udie BRd
g

C | Erin and her parents live in an apartment.

TR 3R 3T H1al- e U 3uréHe H3gd B

Erin does not like birds.

R B U wig 81

Erin and her parents would like to move.

TRA 3R IS HIGT-aT 317 SgT 918 © |

If GOLD is coded as HOME, COME is coded as DONE and CORD is coded as DOSE, how would you code SONS?

If& GOLD &I HOME & =0 H DIfSd fohal ST 8, COME B DONE & =0 H Sifed fha1 SIrdr & 3k CORD &Y DOSE &

TUH oIS fHa1 a1 8, O 3T SONS Bl $Y IS Bl

A | TPOT
TPOT

C | TOOS
TOOS

TOOT
TOOT

TONT
TONT

Erin and her
parents live in
an apartment.

A iR ITH
gafuar @
uréde § Ted
gl

TOOS

TOOS
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If REASON is coded as 5 and BELIEVED as 7, Then what is the code for GOVERNMENT?

g REASON & 5 % & H 3R BELIEVED B 7 & U H HISd a1 T ¥, ol GOVERNMENT & U o am &2

A| 6 B| 8
6 8
clo D| 10
9 10

There are four males sitting on a bench to be photographed. Ravi, Vijay, Ram, Sonu They are sitting as per the
below conditions: 1. Vijay is sitting to the left of Ravi. 2. Ram is sitting to the right of Ravi. 3. Sonu is between
Ravi and Ram. Who would be 2nd to the left, in the photograph?

IR 3V U od IR Ble! Ragam & forg o3 &1 319, fawm, 3m, 9, 3 -1 26l & ouR 98 7 1. 3o, I & a1 ek 937
812.3M, A3 P Y SR IBT R 3. W, XA SR IA S S H 8| TR T 912 3R GIRT S gIMm?

A | Ravi B | Vijay
Mo oo

C | Ram D | Sonu
M S8

Q is the brother of C and C is the sister of Q. R and D are brother and sister. R is the son of A while A & C are
wife and husband. How is Q related with D.

Q CH UE R AR C, QPHI Fg18| R AR D U SN TGI8 R, AT I § oTafdh A 3R C Ualt SR ufd §1 Q, D ¥ vy

A | maternal uncle B | brother
A TS

C | nephew D | uncle
HiSIT EIEl

uncle
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which of the given shapes fit the pattern in the sample images?

G TS pferdl § A -1 T S & e # fibe dod 7

o
o ® o |m %) ,
® m|l (@ o (B O 'lm O|°
B
Q @ o
= H O
C D
°®
® o | ee®
m O oN | )
b

What will come at the place of question mark? 8, 28,116,584,?

AP g & I UR T AT ? 8, 28,116,584?

1752 B | 3504
1752 3504
C | 3508 D | 3502
3508 3502
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Find the missing term: 9,27,31,155,161,1127,?

@Hq?{@ T : 9,27,31,155,161,1127,2

Al 316
316
C| 1288
1288

1135
1135

2254
2254

1135
1135
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